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56.

=g[ h[fI[5,2},7},3]1 [ since i (x,¥) = Quotient,
when x is divided by y.]

2
= g[h {625,7},3] [since g (x,¥) =y* 1
=gl[23]
[ since h (x,y¥) = Remainder, when x is divided by
vl
=322 3% _81[since g (x,y)= y"2
a® +b% +c® -3abc=a+b+c (by formula)
@2 +b% +c2 -ab-bc-ca)

61.

(a) x =33 cubing

1

x3 =3—§—3x31/3x3*1/3(x)

3 :§—3x
3

=3x%+9x=8

=X

— Answer key
1. (b) 2. (a) 3. () 4. (e) 5. (c) 6. (d) 7. (©) 8. (a) 9. (d) 10. (c)
11. (c) 12.(b)  13. () 14. (b) ~ 15.(d)  16.(d). | 17.(e)  18.(a) @ 19.(c)  20. (a)
21. (c) 22.(b)  23.(a)  24.()  25.(e) 26.(c)  27.(c)  28.(e)  29.(b) 30.(d)
31. (a) 32.(c) 33.(c) 34.(d) 35() 36.(b) 37.(b) 38 (d 39 (b) 40. (d)
41. (d) 42.(c) 43.(a)  44.(c) 45.(b)  46.(d)  47.(b)  48.(a)  49.(a) 50. (a)
51 x 1_4 i 1(a+b+c)[(a—b)2+(b—c)2 +(c—a)2]
X ! 2
x2 + lz _ 42 +2-=18 i Exlpression
x i =—(a+b+c([(a—b)2+(b—c)2+(c—a)2]
52. x(x2 +3x+3) ! 2 5 3 2
we add and substract 1 i (a-b)* +(b-c)+(c-a)
(x+1)° i :1(a+b+c)=l(25+15—10)=15
=(103)3 +1 | 2 2
-1092728 + 1 | 57. (64)<+1 = 64
=1092728 i 4%
53. f(n)=2n?% -nforn >5 i 43y« 4* —64
n? in for n<5 i g3x+3+x _ 43
then, f (D+f@2)+f(3) coeruene. £Q10) i 44043 _ 43
“[(1)2 +11 +[(2)% +21[32 +3]1+[(4)% +4)+ i dx+3=3
[(5)% +51+[2(6)* -6]+[2(7)* -71+[2(8)> -8] | x=0
+[2(A)2 -A1+[2(10)2 -10] 1 58. (2xs2-3 xil.3
=2+6+ 12 + 20 + 30 + 66 + 91 + 120 + 153 + | X
190 =690 ! 3 4] 3)3 3 7
54. Divide by x | +x—3+2:(§j “3xgt2=g
S 1 !
=— : 1 . 2
ox2 5x 1 3 : 59, (b) 3x+g :SMultlplybyg
=2 s :
* o i 2x + 1 _10 Cubing
5 1 ! 3x 3
=— i 3 1 1000 20
1 3 [ 8x° + =" _ =
2x+—+35 i 27x3 27 3
) 1 ! 1000-180 820 . 10
[2x+;+5j:15 :(2x+;j=10 i 27 27 a7
divide by 2 both sides 1 80 @) 4345 = (3+£)§
x+l _10 =5 i 5
x 2 ! 6+2v5 |(Y5+1) 5 [1
55. glh{f{i(c16,3),2},7},313 i = 5 5 V32 T3
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